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#include <stdio.h>

#define SIZE 30

typedet enum direction {North, South. East=3, West} dir_t;
int fl(int a, int b) {

it x =3.0/a:
double y = (a/2)*(b%3) + x:
return y;

1
S

int £2(dir td) {
d= (North+East)/2 > d? East: West:
return d;
1
§
int f3(int a. int b) {
if (b==a || b<=1) return a-+b;
else if (a<=1) return b-a:
else return f3(a-b. a-1)+b+a;
1
J
int f4(int a, int b) {
int data[SIZE]:
for (int 1=1. k=0; 1<a: 1++) {
if (1%2==0) data[k++]=1:

1
J

return data[b]:

1
s

unsigned nt {5(unsigned int a, unsigned int b) { return (~a&b):
int main() {

printf("%d'n", f1(10. 4)):

printf("%d'n", £2(South)):

printf("%d'n", £3(6, 4)):

printf{("%u'n", £3(7. 4)):

printf("%d'n", 4(20. 5)):

printf("%d'\n", 4(10, 4)):

printf("%u'n", £5(4, 7)):

return 0;

!
J

h

(sHE2E% ) ok
(fafaniét) @ B AAFTERY »rihenm FEF RV RIRE - KR 34T 235

(P ER) 212 %PO ~ 6

CIIE
(o)
5
4
15
25
277 ®1

R

o F A ?zﬁ%‘« A =k https://www.public.com.tw




AR (L1285 #)
12
7339528
3

()
f1(10, 4) :
a=10,b=4
x=0.3
=(10/2)*(4%3)+0.3=5.3
Fli fl)r @3 & Eint © gw @y hFENL 15

f2(Sourth) -

%>t f2(1)  F15 : North: 0 ~ Sourth: 1 ~ East: 3 ~ West: 4
0+3)/2=1

d=1>173:4

d=4

3(6, 4) -

=13(2,5) + 10
=f3(-3,1) +(5+2) + 10
=(-3+1)+17

=15

f3(7, 4) :

=13(3,6) + 11
=f3(-3,2) +(3+6) +11
=(2-(-3))+20

=25

f4(20, 5)

i=1~19

i =2, data[0] =2, k
i =4, data[1] =4, k
i =6, data[2] = 6, k
i =8, data[3] = 8 k
i =10, data[4] = 10, k
i =12, data[5] = 12

1
2
3
4

f4(10, 4)
i=1~9

i =2, data]0] =2
I =4, data[1] = 4,
I =6, data[2] = 6,
I =8, data[3] = 8,
data[4] € &-3|#&

5(4, 7)

a=410=01002

~a=1011,

b:710201112
1011,&0111,=0011,=349
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01 | #include <stdexcept> 32 | void Except::f3() {
02 | #include <iostream> 33 try {
03 | #include <string> 34 f1(-1);
04 | using namespace std: 35 cout<<"ok"<<endl:
05 | class Except{ 36 }catch(exception &e) {
06 | public: 37 cout<<"exc2"<<endl:
07 void f1(int ¢); 38 }
08 void £2(): 39|}
09 void £3(): 40 | void Except::f4() {
10 void f4(); 41 try {
11 void £5(): 42 throw out_of range("no");
12 void £6(): 43 }catch(out_of range &e) {
13| }: 44 cout<<e.what()<<endl:
14 | int main() { 45 cout<<"exe¢3"<<endl:
15 Except e; 46 }
16 e.fl(1); 47 | }
17 e.f2(): 48 | void Except::f5() {
18 e.f3(): 49 try {
19 e.f4(): 50 throw out_of range("yes"):
20 e.f5(): 51 }catch(exception &e) {
21 e.f6(): 52 cout<<"exc41"<<endl;
22 return 0; 53 }catch(out_of range &e) {
23 |} 54 cout<<e.what()<<endl:
24 | void Except::fl(int ¢) { 55 cout<<"exc42"<<endl:
25 if (c<0) 56 }
26 throw out of range("large"): | 57 | }
27 cout<<"excl"<<endl: 58 | void Except::f6() {
28 |} 59 try {
29 | void Except::f2() { 60 throw out_of range("ok");
30 f1(-1): 61 Hinally {
31} 62 cout<<"exc6"<<endl;:
63 }
64 |}
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(25 %)
01 | import java.i0.*;
02 | interface Pet { —(a)
03 public abstract int eat(int f): Pet
04 | }: .
05 | class Dog implements Pet { —ol—
06 public Dog(int f) {food = f: }
07 public int eat(int f) { e}
08 food += f:
09 return food: Dog
10 }
11 private int food: )
12| }:
13 | public class Main { +Dogl)
14 public static void main(String[ ] args) { b
15 Pet d1 = new Pet();
16 Pet d2 = new Dog():
17 Pet d3 = new Dog(5):
18 dl.eat(5):
19 d2.eat(5):
20 System.out.println("dog: "+d3.eat(5)):
2 1
Eé v
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[# %]
(o)
a . interface
b - +eat (f: int): int

c: &

d : -food: int

e - +eat (f: int): int

¥ 15 (74532 : Pet &_interface » &2 2 2 $ & o

16 {745 3% * d2 Jh>* class Dog shi» 2 » Dog #f % s .+ F @ » B fcd] i 5 8c(¥ 6 17)

S

18-19 7453 Fla % 15 s E 2 A2 » p Ry g RiFeat()d i o

FoR-F o A AR AR AR BN FE g@?lﬂz :
dog: 10
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01 | # server.py

02 | import socket

03 | s = socket.socket(socket. AF_INET, socket. SOCK_STREAM)

041§ bind(('127.0.0.1', 7000))

8; s_l_isten(S_) _

07 pru_lt('walt for connection...")

og | While True:

09 conn, addr = s.accept()

10 print('connected by ' + str(addr))
11 indata = conn.recv(1024)

12 print(‘recv: ' + indata.decode())
13 if 'quut’ 1in indata.decode():

14 outdata = 'bye '

}2 else:

outdata = 'h1 ' + indata.decode()

i ; conn.send(outdata.encode())
19 conn.close()

20 if 'quit' in indata.decode():
51 break

22 print('listen...")

23 | s.close()

24

25

26 | #client.py
27 | import socket

zg while True:

30 s = socket.socket(socket. AF INET. socket. SOCK STREAM)
31 s.c01nlegt(('l27.0.0. 1'. 7000))
37 name = mput(>name:')

33 print('send: ' + name)

34 s.send(name.encode())

35 indata = s.recv(1024)

36 s.close()

37 print(">' + indata.decode())
38 if 'quit’ in name:

39 break

40

THHE)  Aokkk
(FFaEMat) WP 22578 7 R4 7 § 436 Python chie iz » R EFE L7 § 5
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send: Tom
2 16 € &4 3] server v @t & 1 hi Tom

ttclient‘;%@?] » quit 16 423" € BT

send: quit
215 & # TP server @ w @ e L bye
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